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6. 43
6.43  As illustrated in Fig. P6.43 a tornado can be approx- Y
imated by a free vortex of strength I" for r > R,, where R, is T~
the radius of the core. Velocity measurements at points A and s P \\ A
B indicate that V, = 125 ft/s and V, = 60 ft/s. Determine the / L \
distance from point A to the center of the tornado. Why can the / Q \ \
. [ / R\ \
free vortex model not be used to approximate the tornado LN LIS 4
throughout the flow field (r = 0)? ‘\ \ ;) A B ¥
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The tFree vorlec cannot be uwsed 4» approxmate a  tornads

Throughout  The Fow Freld Since at F=o The
veloeity becomes 1nFin/te.
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